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o

Gl ggHl o1 &1 = 95
Total number of questions = 95

gheifefal & fory (3o — qufd — 100
Full Marks- 100

Instructions for the candidates :-

1. TR Jrd9d oue ¥l § SR < |
Candidates are required to give their answer in their own words as

far as practicable.
2. el iR 2IRR W el g ofe guie fAfde o 2

Figures in the right hand margin indicate full marks.

3. U UYF—UA Pl AFEYdd Yed & o1 15 fse &1 sifaRad waa fear war 2
15 minutes of extra time has been allotted for the candidates to read
the question paper carefully.

4. U8 YT UF TI @rsl # 2 @Wre—3 U9 WUs— |
This question paper is divided into two sections: Section-A and

Section-B.

5. WUs—3 H 60 IS YT 2 | IAd & forv 1 i feiRd 2, fo9 4 foe

50 U9A] BT IR AT AAR 2 | TaRT I 3Ed YAl & I9¥ o7 U8 92 50
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STRI BT e fhHIT ST | 37941 SOX Sudd<l B 74 OMR - 3T

T H 38 T GEl g9 Bl it /T dfad U9 71| fHAT 1l 9hR P1

@IgCN / TR TRl /s /g 3Mfe &1 IR IRABT § IR BT 747 2,

3= U ufRond H= 2T |

In section-A there are 60 objective type questions (each carrying 1
mark) out of which any 50 questions are to be answered. First 50
answers will be evaluated in case more than 50 questions are
answered. Darken the circle with blue/black ball pen against the
correct option on OMR sheet provided to you. Do not use whitener/
Liquid/Blade/Nail etc. on OMR sheet, otherwise the result will be

invalid.

WUe—q ¥ 27 Y ST U B | UAS & ol 2 o fqiRd 2, f5=9 @

el 15 Ul &I SR oAT ARl 8 | g9 AfIRed $9 9vs ¥ 08 <TH

SR U9 QU 0 & (YRS $ (o1 5 31 IR 2), o1 o (sl 4 9=l
HT IR S 2 |

In section-B, there are 27 short answer type questions (each carrying
2 marks), out of which 15 (fifteen) questions are to be answered.
Apartfrom this, there are 08 long answer type questions (each

carrying 5 marks), out of which any 4 questions are to be answered.



7. &A1 UER & SAGGITES STDBIOT BT G qUidar 9feid 2 |

Use of any electronic appliances is strictly prohibited.

SECTION-A (Objective Type Questions)

GU—3 (IS UH)

U G719 60 db d U U39 & IR IR fdbey feu v 8 =8 9 'h

el 2| fh=21 50 Uel @ SR < | 31U+ g g+ 7 2T fdhed & OMR <fie
BT Y | (50 X 1=50)
Questions No. 1 to 60 have four options, out of which only one is correct.

Answer any 50 questions. You have to darken your selected option on

the OMR-sheet. (50 X 1=50)
L 1 cemem var @ -
20
A. 3 ard B. a1d
C. 31l D. 379 & $Is 2]
The decimal expansion of 220 is -
A. Non-terminating B. terminating
C. Repeating D. None of these
2. TMBUP —
A. IR¥T Hw@n B.a1uRAy e
C. UTqhd &1 D. quiics
T is a/an -

A. Rational Number B.lrrational Number



C. Natural Number D. Integer

ST GEIRIT BT HO0 15 TAT <1000 105 & | Tl I8 I UH AT 5 & df S
& 7 —

HCF of two numbers is 15 and their LCM is 105. If one of the
numbers is 5 then other number is

A. 75 B. 15 C. 315 D. 525

™ ™

frr=forRaa & &9 ey 9@ & ?

Which of following is an irrational number?

-9 3 JI A
A. \T6 B. 5 C. 100 D. N 64

™ ™

f=feRad § &9 fgard adieor & ?

Which of the following is a quadratic equation?

A X +5(X- 14 = 0 B.2X2=2x- %
C.X°+4x+4=0 D.x+1=2
188 renreretel —
20 ! o E
, 188 .
The simplest form of o 1S
47 45 91 47
(A) 50 (B) 53 (€) {To (D) 55

fh3fT feerd 9gue @ Il & Sffehdd W eldl & —

The maximum number of zeroes of any quadratic polynomial is.
(A) 4 (B) 3 (C)2 (D) 1

fB3d gquiis p @ foro fawm e &1 wu 2 —

For some integer P, an odd number is of the form -

(A) 2p+1 (B) 2p C) p (D) p+l
fedl O @+ a1l g @ 9127 fag, P 9 9o R <1 wel v@g PR qen PS @i 7€
2 afe PR=8 ¥l @ PS =



10.

1.

12.

13.

(A) 8 FH1 (B) 4 10 (C) 64 5D (D) 6 |HI0

PR and PS are two tangents drawn from an external point P to a
circle with centre O. If PR = 8 cm, then PS =

(A) 8 cm (B) 4 cm (C) 64 cm (D)6 cm
TS o, B AR y BEd 920e ax® + bx2 +cx +d & IS 2, al

off + B y+ya =

If . pand y are the zeroes of the cubic polynomial ax® + bx? + cx +
d then ap + B v+ yo =

(A) > ®) —4 © ¢ (D)— <

d d da a

ST gD FHIGROT & AT FHIR WO 2, 79 RIS THIET & I B
(A)TH B 2 (B) &l 8 ©

(C) 3Ffid &1 2 (D) @18 g1 721 2

The graphs of two linear equations are parallel lines, then the pair of
linear equations has -

(A) One solution (B) Two solutions

(C) Infinitely many solutions (D) No solution

ggdq 2x3 - 5x2 - 14x + 8 & IIDI ®I TN ENIT —

The sum of the zeroes of the polynomial 2x° - 5x? - 14x + 8 will be

_ 14 5
A 3 B % © 3 © 3
THIBIOT 9x2 - 1= 0 B Hell Bl Yhid a1 28 ?
(A) TP 3R ST G EESIEARE

(C) ar=ifd® 3R A (D) 379 A B8 7TE]



14.

15.

16.

17.

What is the nature of roots of the equation 9x - 1=0 ?

(A) Real and Unequal (B) Not Real

(C) Real and equal (D) None of these

afe ABC @1 PQR wH&T 2ol & foRH ZA=420T=1m LR=80° a1 Z/B =
If ABC and PQR are similar triangles in which” A =42° and £ R = 80°
then£B =

(A) 42° (B) 80° (C) 58° (D) 48°

ggUe X2-5® YD & —

The zeroes of the polynomial x? - 5 are -

(A)+5,-5 (B) +5, - 5 (C)+\5,-\5  (D)-/5, /5
FHIGRUT BT 3x + Ky = 0 @217 2x + 5y = 20 & Iffgd 81 8 & foru

K &T AF 2 —
The value of K for which the system of equations 3x + ky = 0,

2x + 3y = 20 has unique solution -

AK= 2 (B)K #

2 |1

S
3

(C) K

f=feRad &9 99iae 9l & ?

2 |t

Which of the following is an arithmetic progression ?
(A) 0.3, 0.33, 0.333, .

(B) 1,11, 111, .

(C)2,4,8, 16, .

(D)0,-4,-8,-12,.



18.

19.

20.

21.

22.

g (-12,-12) P ure & 2 ?

(A) T2 U1 (B) feci ure

(C) Tt e (D) =t e

In which quadrant does the point (- 12, - 12) lie?

(A) First quadrant (B) Second quadrant
(C) Third quadrant (D) Fourth quadrant
T waiay gofl & forn ffefad & o1 g a7 2 ?

() S,= B2a+(n-1)xdj (B)S = 3“2#1

(C) (A) T (B) &l (D) T9 ¥ B 7l

For any A.P. which of the following formula is true?

(A) S, = %{23-!— (n-1)xd} (B)s — 1 (112+ 2)
(C) Both (A) and (B) (D) None of these

feend FHIEROT bx? + ax + ¢ = 0 &7 fAfqaeR 29 —
The discriminant of quadratic equation bx?+ ax + ¢ = 0 will be -
(A) b”-4ac (B) a?-4bc

(C) ¢?-4ab (D) b -2 ac

st &1 eawa (a7 s318 H) foras 3 (-4,0),(0,3) @21 (0,0) 2
The area of the triangle in square units whose vertices are (-4, 0 ),

(0, 3)and (0, 0 ) is -

(A) 6 (B) 1
(C) 36 (D) 12
a1 qHaE Yo 2l 8 —

GVKEIRIEEE (B) 98w



23.

24.

25.

206.

27.

28.

(C) (A) T (B) eI (D) 398 ¥ Pl &1

All equilateral triangles are -

(A) Congruent (B) Similar

(C) Both (A) and (B) (D) None of these

i ggue f(X)=x2-3x+5 @ JUd adiR b el dl4(a+b)=

If a and b are the zeroes of the polynomial f (x) = x? - 3x + 5 then

4(a+b)=

(A)-12 (B) 12 (C) 20 (D) - 20

FHR A 5, 8, 11, 14, ... © U2H 24 UGl BT TN & —

The sum of first 24 terms of the A.P. 5, 8, 11, 14, ......... is -

(A) 940 (B) 960 (C) 948 (D) 944

fa=g (5, 5) &1 {1 7ol favg 4 11 —

The distance of the point (5, 5) from the origin will be -

(A) 5 (B) 10 (C)5\2 (D) 245

IJic AABCH AB =13 940, BC = 12 UHI0 T AC =5 4L al
ZC =7

In AABC ifAB=13cm,BC=12cmand AC =5cm. then/C =7

(A) 90° (B) 30° (C) 60° (D) 45°

95 (6,10 ) ®T HIfC 2 —

The ordinate of the point ( 6, 10 ) is -

(A) 6 (B) 10 (C)-4 (D) 16

a1 9HeU S &1 Gd YA 4 0 9 & Ul H 2, 396 alAhel $T Ul

2 -



29.

30.

31.

32.

33.

The ratio of the corresponding sides of two similar triangles is 4 : 9
then the ratio of their areas is -

(A)4:9 (B) 16 : 81 (C)9:4 (D) 81: 16
g A(5,2)3RB(9,5) & da &1 2 —

The distance between the points A (5,2 )and B (9, 5)is -

(A) 4 (B) 9 (C)7 (D) 5

AABC # DE [[BCTm 28 - iwﬁAc: 15 o o1 AE &
di~The 719 BRI

(A)6.43 &0 (B) 5 &0 (C)4.43 30 (D) 7.23 ¥
In A ABC, DE || BC and % = % . If AC = 15 cm. then the

approximate value of AE will be.

(A) 6.43 cm (B) 5 cm (C) 4.43 cm (D) 7.23 cm
TR A1 4,9, 14,19, ovveeenn. BT HIF—T 9 109 & °
(A) 20 df (B) 21 df (C) 23 df (D) 22 df
Which term of the A.P. 4,9, 14,19, .............. is 109 ?
(A) 20" (B) 21t (C) 23t (D) 22t
?Jﬁ{tanez% 2l dl sing &T 99 &
If tano = 12 then the value of sin@ is

12 5 5 13
A) == B 2 C 2 D
G ® 3 © 3 O]
fdg A(-7,5) 8RB (4, 2) S FaM acl IWETs & Aeg—{d=g &1



34.

395.

36.

mE® & —
The Co-ordinates of the mid-point of the line segment joining the

pointA(-7,5)and B (4, 2)are

A(3, L) B) (3,7 )
2 2 2 2
(C)(—lz—l,% ) (D)(3,7)

afe g B A8 60° 8, 99 30 HICR B Rl BT BT g4 dlel] &

HF R ®T 3918 & —

(A) %% o (B) 15370 (C) 30\/3#0 (D) 15 o
If the height of the sun is 60° then the height of the vertical tower
making the 30 m long shadow is -

myﬁm B) 153m (C) 30y3m (D) 15m
<) @ R Sragt 6 o ik 11 o 2, THdd 4H R @ 2 | gfe Gl
® el @ /BT X 12 Ho 2 d1 398 W R & §1 d1g3 € —

(A) 17 910 (B) 18 1o (C) 13 #o (D) 12 #o

Two poles of height 6 m and 11 m stand on a plane ground. It the
distance between the feet of the poles is 12 m, then the distance
between their tops is -

(A) 17 m (B) 18 m (C)13m (D) 12 m

a1 gl & &Ahell BT Ui 9 - 1 & 4 a1 sl &1 rgurd € —
The ratio of the areas of two circles is 9 : 1, then the ratio of their
radii is -

(A)3: 1 (B)9: 1 (C)1:3 (D)1:9



37.

38.

39.

40.

41.

4,2,52,0,3,2,3F 98dd & —
The mode of 4, 2, 5, 2,0, 3, 2, 3is -

(A)3 (B) 2 (C)5

IfT T T4 B THTs, dliels a2l Hdls HA: 15 THI0, 12 FHI0 TqT

45 9H10 2 O S9PT T & —
(A) 805 [HI0° (B) 810 [HI0°
(C) 243 ¥0° (D) 604 ¥10°

If the length, breadth and height of a cuboid are 15 cm, 12 cm and

4.5 cm respectively then its volume is -
(A) 805 cm? (B) 810 cm?
(C) 243 cm?® (D) 604 cm?

HIUT 6 gt FIoadE &1 eF%hd eRT —

The area of a sector of angle g will be -

0 2 6
(A) == X mr (B) 75 X2 7T
C) = x2nr D) —— X27r
(C) 739 %27 (D) Tgg X27
(1-sinA)(1-sinA)=
(A) sin?A (B) Cos?A
(C) - Cos?A (D) - sin’A

T — 3fATA 110—130 BT T—TT8T & —
The Class mark of the class interval 110 - 130 is -

(A) 110 (B) 130 (C) 240

(D) 4

(D) 120



42.

43.

44,

45.

46.

47.

tan 57° HT 9F BN —

cot 33°
tan 57°
The value of ;7337 Willbe -
1
(A) 1 (B) O (C)-1 D) 5

U®H Ul B UR UHh GH A& 37 B YIHar & —
In a throw of a die, the probability of getting an even number is -
A L B®) 1 C) =2 (D) 2
3 2 6 3
a1 € 3qRfd # £ AOB =115° 41 ZAPB =

In the given figure £ AOB =115° then ZAPB =

A
0 P
B
(A) 115° (B) 65° (C) 35° (D) 57.5°
5sec’A-5tan’A =7
(A) S (B) O (C) 1 (D)6

T

T F¥ET AT o1 Uifdedr il & —

The probability of a sure event is -

(A) 0 (B) 2 (C) -1 (D) 1

™ ™ ™

foriad § &I cos 30° & &Y & ?




48.

49.

90.

o1.

92.

Which of the following is equal to cos 30°?
(A) cos 45° (B) sin 60°
(C) tan 30° (D) cos 60°

™

fFferad o I 1T ggics &1 A9 81 8 ?

(A) gD (B) AET®

(C) 1% fa=rer (D) |

Which of the following is not a measure of Central tendency?
(A) Mode (B) Median

(C) Standard deviation (D) Mean

sin’6 X Cosec = ?

(A) sin® (B) cosecot (C)O0 (D) 1
a1 gfaeedl gl &1 IR Wyl @Rl ®1 G &1 8 —
(A) 3 (B) 2 (C) 1 ) ESITES

The number of common tangent lines of two intersecting circles is -
(A) 3 (B) 2 (C) 1 (D) Infinite
A oo =p =450 sin (o + ) ST A4 21T —

If o =p =45° then the value of sin (o + p ) will be -

(A) 2 (B) 1 (€) 0 (D)

™

feT 0 STRid J x BT HE 8N —

[

(A) 10 ToHlo (B) 16 WoHlo (C) 6 [oHI0 (D) 20 oo

The value of x in the given figure will be -



93.

4.

B &<—10cm > R £ 6cm —= C
(A) 10 cm (B) 16 cm
(C) 6 cm (D) 20 cm

UE IF D AR BT FRT 10 F0H10 3R g96T HdaTg 12 Vo0 &, ar Id BT

JAT & —
(A) 4007 THID? (B) 3007t @HI0?
(C) 2007t AH10? (D) 1007t AHI0?

The diameter of the base of a cone is 10 cm and its height is 12

cm, then the volume of the cone is -

(A) 400 T cm? (B) 300 7T cm?

(C) 200 Tt cm? (D) 100 7t cm?

afe @ BT fAH0T 1642 A0 2, AT G BT JoT BT dAdrg ENlT —
(A) 16 cm (B) 4 cm

(C) 4+/2 cm (D) 256 cm

If the diagonal of a square is 16\/2 cm then the length of the side

of the square will be -



(A) 16 cm (B) 4 cm

(C) 4~/2 cm (D) 256 cm

I sin P =sin Q @21 P 3R Q == &I 21 dl —
(A) P =Q B)P>Q
(C)P<Q (D) g71H ®lg 2]

If sin P =sin Q and P and Q are acute angles , then.
(A) P =Q B)YP>Q

(C)P<Q (D) None of these

r 21501 @1 h 918 d1d 9o & IhUS &I &kl (a7 shig H) Nl —
The curved surface area (in sqg. unit) of cylinder of radius r and
height h is -

(A) 7trh (B) 2 7trh

(C) 4rh (D) 7trzh

14 G410 ATE Tl T ST BT Bl TSN &A% N —
(A) 14770 THI0? (B) 1987C {HI0?

(C) 48810 THI0? (D) 3961 A0

The total surface area of a hemisphere of diameter 14 cm is -

(A) 147 ¢ cm? (B) 198 7t cm?
(C) 488 T cm? (D) 396 T cm?
cos (90%-A) =

(A) cos A (B) sin A
(C)-cos A (D) -sin A

fau 1 A PQR 3 %i:

QR _

In the given A PQR, PQ



60.

(A) tan a
(C) sin a

0.47=

90"

[ o ‘R
(B) cot a
(D) sec a
43
(B) % ) 5



GUe—q
SECTION - B
(R aafres we)
(Non Objective Type Questions)
T IR U
Short Answer Type Questions.
U AT 1 9 27 oY IO 2 | B 15 Tl & IR T | UAD @
fog 2 siw fafRa & (15x2=30 )
Question Nos. 1 to 27 are short answer type. Answer any 15

questions. Each question carries 2 marks. (15x2=30 )

1. a1 o7 faTer gishan by gamgy 6 e ar uag | %Eﬁr TTEAd
TR Wid AT i ofTa € |
Without actually performing the long division, state whether the
rational number % will have a terminating decimal expansion or
non-terminating repeating decimal expansion.

2. Ul ggue X*-Xx-(2k +2) &1 & ¥@F X = -4 2, a1 k &1 79 91

If x =-4 is a zero of the polynomial x?-x - (2k + 2), then find the

value of K.

3. 192 P JHY OFETS] & TOFHA & WU H Fdad b |

Express 192 as a product of its prime factors.

4, fgend wdiaver 1002 - 20 x + 1 =0 & Ho &1 Sy |
Find the roots of the quadratic equation 100x?-20x + 1 =0 .
5. WEI® Hv1 & wE IR U [aau wdih oM ue a = 4 3R Ae—aicr
d=-3



10.

1.

12.

13.

Write first four terms of the A.P when first term a = 4 and
common difference d = - 3.

frg PR 5 3V2 va iy = &

Prove that 3V2 is an irrational number.

N e N

Fefeiad RGeS FHHIOT I B 3 PN —

Solve the following pair of linear equations -

X+y=8, X-y=0.

qfdere TS THATINRA &1 UART HR 135 TIT 225 &1 HOWO [-idha |

Using Euclid's division algorithm, find the H.C.F of 135 and 225.
2x> + 3x + 1 ®rx + 2 A 4T Sy |

Divide 2x? + 3x + 1 by x + 2.

Ife BT FHIAR 4of1 &1 92F Ue 5, AESIR 4 3R i T 205 21, 1

FHIGR 47T & UG BT F&T S1d HIIT |
If the first term of an A.P is 5, the common difference is 4 and

last term is 205, find the number of terms of the A.P.

UF fgurd 9gue 9d Sifei e @ 8 3k -16 2|

Find a quadratic polynomial whose zeroes are 8 and -16.

X ® A F1d B0 ad fw a5 A (-3, 2) @1 B (x, 6) & a1/ &7 g3
25 3HTE ¢ |

Find the values of x for which the distance between the points
A (-3, 2) and B (x, 6) is 25 units.

fdT A ABCH 2l favg D @1 E @5er yoril AB @21 AC WR 9 R &
f5 BD = CE @1 /B = /C, @ fag ivm f5 DE||BC

In anyA ABC, two points D and E are on the sides AB and AC



14.

15.

16.

17.

18.

19.

20.

respectively such that BD = CE and £ZB = ZC then prove that
DE || BC.

Sa g @ fdene 9d @ifeu &t fdgat A(2,3) sk B(4,5) &
(el dlel NGrEve &1 2 : 3 & 3uid H fauiiord &xar 2|

Find the co-ordinates of the point which divides the line segment
joining the points A( 2,3 )and B ( 4, 5) in the ratio 2 : 3.

1% 2 ABD # ZA @H®ivr g2r ACL BD SEf C, BD WR 8, @l g &3
f» AC?=BC . DC.

In AABD, ZA isrightangle and AC_L BD where C lies on BD then
prove that AC?2 = BC . DC.

Atz 15 cot 0 =8 g X fh cos 6= S

17
If 15 cot 6 = 8 then prove that cos 6 = 1% :

IS TF AGFTHR W BT AN 14 JH0 21, 1 IADT &A% A BT |

If the diameter of a semicircular field is 14 cm then find its area.
U6 fdg QW U gd UR W N&T D1 =TS 24 AH0 TAT Q BT b A
26 THI0 &, I 99 &1 ar =1 s

From a point Q the length of tangent to a circle is 24 cm and

distance of Q from centre is 25 cm. Find the radius of the circle.

Rig &R 6
Prove that
[ + cosA I + cosA
l-cosA sinA
21 90 341 91t 9d &1 UH TMY Hea TR 60° BT HIVT 3fARd HdTl 7,



21.

22.

23.

24.

25.

26.

27.

I BT AHETS ST DY |
In a circle of radius 21 cm, an arc subtends an angle of 60° at the

centre then find the length of the arc.

sin?30° + tan?45° ®T 71 ST qﬂﬁﬂlu

sec?30° + cot45° )

Find the value of 31n230° + tan®45°
sec?30° + cot?45°

freferfad difes & 92dd Sd BN —

PISIEE 0—20 | 20—40 | 40—60 | 60—80 |80—100

BTl BT F&T 5 6 16 12 11

Find the mode of the following data.

Marks obtained|0-20|20-40 | 40-60 {60-80 | 80-100

No. of students 5 6 16 12 | 11

afe A, B3R C, AABC & & &IvT &I, dl aifdd $IfeT fd

cos (A*B)=gin € |
2 2
If A, B, and C are interior angles of a A ABC then show that
A+ B (o

cos (—2)= sin

AT YBR A W T8 52 Ul I U TSl H I Udh Ul FHTAT STl & | AT

AT BT 1G98 Y HIA BT YISl Sid DY |

One card is drawn from a well-shuffled deck of 52 cards. Find
the probability of getting a king of red colour.

frfaRad affes &1 A1eg 18.75 2, 1 K &I A &1d B |

The mean of the following data is 18.75 then find the value of K.

X 10 |15 | k 25| 30

f 5 10 | 7 8 2

Ui 929 12x2 - 20V3x + 25 & Id o1d &N |
Find the zeroes of the quadratic polynomial 12x* - 20V3x + 25.

A fAPTe |



Find the Value.
3 sin?30° + 4 cos?45° + 3 tan?30° - 6 cos?60°

" ST 9

Long answer type questions

U3 AT 28 § 35 dd <" I YA 2 | fHE 4 U & SN < |
A & foy 5 3w FailRa 2 (4x5=20)

Q. No. 28 to 35 are long answer type questions. Answer any

four questions. Each question carries 5 marks. (4x5=20)

28. TH Hiex dic, T ReR 9o ¥ 91 18 fhlo /€eT 8, 24 &0 aRT &

29.

30.

31.

gfhdl ST H, 921 X1 9RT & 31dhel S &1 3[UeT 1 ©eT 3iferd JdT 2|

gRT BT ATl A1 BIAT |

A motor boat whose speed is 18 km/h in still water, takes 1 hour
more to go 24 km upstream than to return downstream to the
same distance. Find the speed of the stream.

HrE fafer F g1 &Y —

Solve graphically -

2x-2y-2=0, 2x+y-6=0

g BN % 1d F9HI1 et § Bl 1 99 99 31 ool & a9t & AR &
RER BT 2 |

Prove that in a right triangle, the square of the hypotenuse is

equal to the sum of the squares of the other sides.

Uh FHAGHS BT &A% S BifT fas oY g3 %49 ¥ (3, 0), (4, 5),
(-1, 4) 3R (-2, -1) £}



32.

33.

34.

Find the area of a rhombus whose vertices are (3, 0) , (4, 5),
(-1, 4) and (-2, -1) taken in order.

Rig &3 & —

Prove that -

(sin*A - cos*A + 1) cosec’A = 2

UEh S forad 120 AHI0 $ATE 3R 60 AHl0 5T ardlT Uw vig; |@fEfd 2,
ST 60 910 55T aTel Uh 3G Ml WX AIRIUT 2 | $9 S &I U1 d WX g1
Uh &9 g 99 H 39 YBR Al Sid Qa1 S 2 & g7 ddq &1 dell
B T B | AfT 99 BT A7 60 FH0 2 2T HdATs 180 THD & dl 9
H 9N 99 UIHT BT I ST BT |

A solid consisting of a right circular cone of height 120 cm. and
radius 60 cm. standing on a hemisphere of radius 60 cm. is placed
upright in a right circular cylinder full of water such that it touches
the bottom of cylinder. Find the volume of water left in the
cylinder, if the radius of the cylinder is 60 cm. and its height is180

cm.

Th HEdleR el 38T Il Tdh 50 HIe 39l 9N U6 21 afasd do 1) fRerd
T HAR @ 3N 9 W © SuN O Fad RN @ 3a999 BT HHIT: 30°
TIT 45° B, Al HAST &I BT SHdls SId D |

A vertical flag rod and a 50 metre high tower are situated at same
horizontal ground. The angles of depression of the top of the
tower from top and foot of the flag rod are 30° and 45° respectively.

Find the height of the flag rod.



35.

7.6 W0 ofdT Th @ Wity 3R g9 5 : 8 rard d fauifard Bifoy |
ST AT BT AT |
Draw a line segment of length 7.6 cm and divide it in the ratio

5 : 8 . Measure both parts.





